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SECTION - 1 : General Awareness I - 1 : AGIS MWISH (WH AT
Q1  Human blood has all of the following Q1 &4l Bg &9 s ifaw S farn &3

components, except: a gl A9 Wed e 9872
(A) Blue blood cells (A) BBIA3E

(B) Red blood cells (B) TBFIA3E

(C)  White Blood cells (C) HITIAIE BIAEG
(D) Platelets (D) UBTBH

Q2  Which of the following panchayat Q2 p#s Hfg3™ Indt & ﬁgsr &g fag=t
systems did the Ashok Mehta Ugrfes yerat € fAegn st At?

Committee recommend? oo 4

(A)  Bx-Uodt dorfest Yerait
(A) Single-tier panchayat system

(B) T-Uydt Uofes y=dt
(B)  Two-tier panchayat system

(C)  Three-tier panchayat system (C) fEa-dndt dofes Yzt

(D)  Four-tier panchayat system (D) TI-Uydl Yorfes Y=gt

Q3  The first municipal corporation in Q3 I3 9 UIS &IF f&IH

India was set up in: @3 a3 Jt3T famir At
(A) Madras (A)  ¥WSIH

(B)  Bombay (B) =9

(C) Calcutta ) smdEr

(D)  Lucknow (D) UG

#
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Q4  Under which scheme, youth will act Q4 fom Ure @ 33 dA<s UAy f&o

as catalyst to curb drug addiction &R T 83 § Joe © BE g3yga © 39

from Punjab? ‘3 dH II&AN?

(A) Aajeevika Grameen Express (A)  OFifes EII"H'TE YQEU:R}H B
Yojana

(B) Punjab Pani Bachao Paise (B) VA= y=l s9€ UR W€

HAH
Kamao Scheme
(C)  Aashirwad Scheme (C) [HIIEE ASH
(D) [Funjab Buddy Drug (D) Ay 3 3T U3 YEgTH

Eradication Program

Q5  Which Union Territory borders Q5 Uy < Agde €39 e figt &5

Punjab on the North? a2 deg IH3 Yo &% Sde J7
(A) Daman and Diu (A) TH&O3 @

(B) Jammu and Kashmir (B) #AH O3 M

(C)  Delhi (c) fc&t

(D) Ladakh (D) B

Q6  As per Census 2011, which of the Q6 2011 T HIEHEHS 0gAT UAe ©

following districts of Punjab has the faaz g & Aarfmr 79 3 S0 J?
highest population? (A)  ghimray
(A) Hoshiarpur
: (B) &3
(B) Bathinda
(C) Ludhiana (C) Bftmre
(D) Jalandhar (D) ABTI
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Q7

Q8

Q9

What is the outfit for men while Q7

performing Bhangra dance form?
(A) Kurta and Lehenga

(B)  Lungi and Shirt

(C)  Lungi and Jugi

(D)  Lungi and T-Shirt

Who was the first Defence Minister ()8

of India, who belongs from Punjab?
(A) Giani Zail Singh

(B) Beant Singh

(C)  Manmohan Singh

(D) Baldev Singh

Who is the Speaker of Punjab Q9
Legislative Assembly in the year
20217

(A) Ajaib Singh Bhatti
(B) Capt. Amarinder Singh
(C) V.P.Singh Badnore

(D) Rana Kanwar Pal Singh

PAPER-5 SERIES-EC

T &Y (FU) II& AN wreHm et

FI3 Uz Je I&?

(A)  FF3T 03 Bfdar
(B) Editn3 A
(C) Fdto3gat

(D) BIM03I-HIT

33 © Ufgd Sfimr H3I 3 7, A

UAY &8 A9y JuT AG?

(A)  fomrst 2 fily

(B) =03y
(C) HeHIS fiy
(D) Szee iy

A8 2021 &g UAyg feos AT ©

Algg e I&57?

(A) o+fes iy 3&
(B) ducs 0HIdEd fiHy
(C) =R fiy g9

(D) Jerdeg Uy fiy
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Q10 Who founded Patiala Riyasati Dal? Q10
(A) Sewa Singh Thikariwala
(B) Kartar Singh Sarabha
(C) Bhai Laxman Singh
(D) Lala Lajpat Rai

Q11

Q12

Which Sikh Guru, fourth of the 10 Q11

gurus, founded the city of Amritsar?
(A)  Guru Nanak Dev

(B)  Guru Har Rai Sahib

(C)  Guru Arjan Dev

(D)  Guru Ram Das

Which programming language listed Q12
below is currently most commonly

used in the field of Data Science?

(A) C++

(B) JAVA

<€ C

(D)  Python

Yfenrar foAst €8 & Aaus fars
SA3T?

(A) AT iy sadtesr

(B) I3 AW AT

(C) 3¢ BAHE fAw
(D) I BHYI I

fiut 2 10 g 9 fam 88 I9 &

0'fi{3H3 #igg € AEUeT 15t
(A) HIIE oIS A

(B) ¥ IgIfIIe AfoT +t
(C) #HIgoIAsTH
(D) FIGIHEHHA
TI3IHS I fefomis ¥39 Re A9 3
2g Qudlar St A 37

(A)  C++

(B) JAVA

(C) C-

(D) ydlEs

PAPER-5 SERIES-EC
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QI3 The World Environment Day is Q13

celebrated on

(A) 1 May
(B) 10 July
(C)  5June

(D) 2 February

QI4 Which of the following is the Q14

smallest river of Punjab?

(A) Beas
(B) Satlyj
(C) Ravi
(D) Chenab

Q15 Which of the following canal is in Q15

Punjab?

(A) Gandak canal
(B) Kosi canal
(C)  Son canal

(D)  Sirhind canal

e @3<de feem _ &
Hafemr AT I U
(A) 1 HE

(B) 10 guEl

(C) 596

(D) 2 2I=Sr

Jo f&fswr &5 fagzr Jag e Az 3
gcr efgnr J7

(A) favmA

(B) H3BH

(c) TJ=&

(D) fogo=

J?

(A) I3 Bfgg
(B) A Bfag
(C) W& afgg
(D) wIfdE afgg
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Q16 India has resorted to formof Q16 393 & IHSIUH THE YEE ©

government as opposed to fedu &g Ageg © qu T
presidential form of government, ATT fonr 3, A &% Aga9 © I9d
whereby each head of the government el & wrEl HerERedt St u=dt

must render its accountability. (A) f—c.m

(A) Timocracy (B)  ‘IhrEEy

(B) Monarchy () FHret

(C) Parliamentary (D) THEIII

(D)  Aristocracy

Q17 In which year were the Official Q17 fom A% &9 0foargs IH< € Wac,

Language Rules framed under the 1963 © AaA® 8(1) © feust © 3fa3
provisions of section 8(1) of the 0 g3 | fau fanrg 387
Official Languages Act, 19637 (A) 1975

(A) 1975 (B) 1976

(B) 1976 (c) 1977

© 1977 (©) 1978

(D) 1978

Q18 Which Article of constitution of India Q18 I3t AfeTs & fagt oor K9 HiBx

contains provisions of  the 299 T fUs A HS I67
Fundamental Duties? (A) 49
(A) 49 (B) b5
(B) 45
(C) 51A
(C) SI1A
D) 50 (D) 50

————_——ﬁ
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Q19  The procedure for impeachment of Q19 IHeIUS @ fuse Haer & Yfafamr

the Presidentisa  process. & argerE I
(A) judicial (A) %n;féa

(B) legislative (B) feusa

(C) executive (C) SgHaat

(D)  quasi-judicial (D) 0Ig-fowfos

Q20 Which among the following is an Q20 W%@wﬁﬁmwﬁr%ﬁ

ascetic sect of Punjab founded by egT AETU3 a3t famr Uare © i
Baba Sri Chand? NAG fager

(A) Nirmala (A) o

(B)  Nirankari (B) fadarat

(C) Khalsa (C) YA

(D) Udasi (D) Ge

=

Q21 Diamond is made of which element? Q21 dior fam 33 & gfewr gerJ?

(A) Oxygen (A)  WIFHAHAS
(B) Carbon (B) o99&
(C) Hydrogen (c) TEIFs
(D)  Nitrogen (D) ?;r@a,—.rg
Q22 The Indian Federal System is Q22 I3t Fmult y=r&t Jo ffanif fed oz
borrowed from which of the 27 3 0'Ierg St s 972
following countries? (A)  OHIEr
A The US
(A) © _ (B) wWHIHMI
(B) Australia _
(C)  Switzerland (©) '
(D) Canada (D) 53

PAPER-5 SERIES-EC %]



Q23  Which festival is also celebrated to Q23 faqgzr @3nA< iy oan ST ¥BA ©

Q24

Q25

mark the birth of the Khalsa in
Sikhism?

(A) Hola Mohalla
(B) Lohri
(C)  Gurupurab

(D) Baisakhi

Who among the following is not Q24

associated with Sufi music of Punjab?
(A) BabaFarid

(B) Baba Sehgal

(C) Bulleh Shah

(D)  Shah Hussain

Who built the famous Moti Bagh Q25

Palace in Punjab?

(A) Maharaja Duleep Singh
(B) Maharaja Narinder Singh
(C) Maharaja Ranjit Singh

(D)  Sir Ganga Ram

o ©f fomeedl ads 38 I
Homfemr Jer J?

(A) IS HIBT

(B) Bt

(C) JIgyId

(D) ferAmt

foge’ 9 de UAg @ A A3 &%
A3 &t I?

(A) == ede

(B) == AJIS

(C) E8HJI

(D) HJIIAS

=

gerfowr?

(A)  HIIH T fHY

(B) HIIT &fded fiw

(C) HIIH Jeai3 fiw

(D) HAIIEr IH

PAPER-5 SERIES-EC



Q26 Which among the following is not an Q26 fugs™ &9 fggz™ A3 I3 © I9iagIs

Arthropoda from Animal kingdom I WIgIUZT I 97
classification? (A) I E
(A)  Silkworm =

(B) Honey bee e i o

(C) Kingcrab (c) fda o=

(D) Earthworm (D) I

Q27 Where is the Sri Harmandir Sahib Q27 it afgres mfgg e gogews fHa

Gurudwara located? "E3 I°

(A)  Amritsar (A) OfEAI
(B) Ludhiana (B) Fftmre
(C) Patiala (c) ufewzr
(D) Bhatinda (D) =f&ar

Q28 The mineral that is NOT often Q28 €9 fagz dferd I 7 fiads Teg Ko

present in mineral wateris . ).’r,-;re &t Jer?
(A) calcium (A) SBHOH
(B) magnesium (B) NarSHIOH
(C)  potassium (C) USHOH
(D)  tritium (D) q’T—éTEI H

Q29 Baba Ram Singh was the leader of Q29 grgr g fiiw fan Bfag € 33" AG?

which movement? (A)  fiw Fer Bfgg
A)  Singh Sabha movement .
(A) ingh Sabha m b -

(C) Radha Soami movement (C) I Ewndt Bfgg
(D) Kuka movement (D) g Bfgg

(B)  Nirankari movement

W
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Q30  Which of the following centrally Q30 JUmg fég gargat @ feaw & Js

sponsored schemes is implemented in fedt &5 fIod deg owar
Punjab for the development of AUTHI IS dAee B SSm
horticulture? et I&57?

(A) MIDH (A) MIDH

B) KUPY (B) KUPY

(C) PMRF (C) PMRF

(D) NDRF (D) NDRF

Q31 Which cropping refers to growing of Q31 fagdt Jfilar fa Jt 893 f<v A® &9

only one crop on the same piece of A f8g It gAs Garge T gew féet
land year after year? J?

(A) Catch cropping (A) 3J9T Qﬁ-ﬁﬂ

(B) Mixed cropping (B) frHawz Jfifar

(C) Relay cropping (c) fa& gfifar

(D)  Monocropping (D)  W&far

Q32 Who killed General Dyer in England? Q32 fiad3 &9 mags 3fed § fans H3
2 wre §3fanr?

(A) HAITI GuH iy

(A) Sardar Udham Singh

(B) Kartar Singh Sarabha 3
(B) aI39 fHW AT

(C) Baba Gurdit Singh ()  srer R iy

(D)  Sardar Balwant Singh (D) FAITT B3 iy

PAPER-5 SERIES-EC [12]



Q33 Jnanpith award 2020 was conferred Q33 fymyaits YIASI 2020

Q34

Q35

on____ poet Akkitham.
(A) Malayalam

(B) Telugu

(C) Tamil

(D) Kannada

Which former Textiles Minister Q34

inaugurated the 8" edition of India

International Silk Fair?
(A)  Smriti Irani

(B)  Nirmala Sitharaman
(C)  Ramesh Pokhriyal

(D)  Amit Shah

In which year,

mission was launched?

(A) 2018
(B) 2019
(C) 2020
(D) 2017

Chandrayaan-2 ()35

st ofasH
(Akkitham) & 37 famm|
(A)  HEWBH
(B) 33J
(c) 3fs
(D) 57

fagz Ager duzT H3dt & FI3
0'33HST IAH NS © 03< AAdde
T gewes Ji3m?

(A)  AfE St
(B) foIHS HIZIHG
(C) INH Mdfows

(D) ofH3 w9

fHAs dedus-2 fagd A BT di37
famr 72

(A) 2018
(B) 2019
(C) 2020
(D) 2017

L —————————————. .
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SECTION -2 : Quantitative Aptitude and

Q36 Six years ago, the average age of a Q36

Q37

Numerical Skills

family of 5 members was 32 years.
During this period, a baby is born in
the family. Even now, the average
age of the family is the same as it was
6 years ago. What is the age of the
baby?

(A) 3years
(B) 2years
(C) 4 years
(D) S years

A shopkeeper bought two chairs for %
4,200. He sold one chair with 8%
profit and the other at a loss of 9.5%.
In the whole transaction, he neither
lost nor gained. What is the cost price

of the chair which was sold at loss?

(A)  %2,100
(B) %2,280
(©)  %1,920
(D) %2,000

Q37

H'3IIHA War3™ w3

AR 3IHT &9

8 75 ufgst, 5 Heagr @ ufgeg <t
WH3 €13 32 A® Al iR W 295,
yfgerg &g ffa €9 & AaH o Js,
yfgerg € WAz 8Ha €3t 3 fHat feg
6 A'S Ufgst At 59 ©f 43 fdat 972

gIqr-2:

(A) 3 HZ
(B) 2WH®
(C) LHAZ
(D) . 5 W%

g TaIeegd & T 4,200 @ ©
FIAMT yIemf| 8RS B gart 8%
B9 &% 03 TH 9.5% JT& &% 9|
Y3 A &9, BAG & 37 &3 I &
It It @R IIH T B3 HS of J A

It '3 2T I A
(A) % 2,100
(B) ¥2,280
(C) %1920
(D) % 2,000

—————————————————
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Q38 What should be added to 15 = to get Q38 18 2 Y3 595 B¢ 15: R o

19 g? Afgr JreT grdter 92
a) 32 (A) 32
(B) 3% (B) 3=
© 2z (c) 23
®) 23 (o) 23

Q39 When 47742 is divided by 146, we Q39 #E L7742 § k6 &S Id1 i3 Her

get the quotient as 327. What will be 3, 3t AG 327 IWES Yu3 e JI
the quotient if 47.742 is divided by IS fdar I=Ar, AT L7.7L2 &
0.0146? 0.0146 &S Ia1 f&3T Aer J7?

(A) 3270 (A) 3270

B) 327 (B) 327

C 327 (C) - 3&.P

D) 327 (Y 3387

e P P e S e W e eSS eer,.
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Q40 What is the value of 0.5% of 56252

Q41

Q42

(A) 28.125
(B) 281.25
(C) 56.25
(D) 562.5
What number is every non-

terminating non-recurring decimal

called?

(A)  Whole number
(B) Integer

(C)  Rational number
(D)  Irrational number

What is the value of (—5.2)°+ Q42

(2.9)% + (2.3)3?

(A) -—34.684
(B) - 104.052
(C) 34.684
(D)  104.052

Q40 5625T 0.5% T HB AT I?

Q41

(A)  28.125

(B) 281.25
(C): - 58.25

(D) 562.5

J9d DHZ DE-WIIS THHBR &

[{

foaadt At fagr Ater 37
(A)  YI& Hitmr

(B) UYIsOS

(C)  UfIAH Hftmyr

(D)  DUfIAH Hftmyr

(=5.2)3 4+ (293 + (2.3)3 T HZ &t
J?

(A) -3L.68L
(B) —104.052
(C) 3L.68L
(D) 10L.052
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Q43 The bar graph shown here gives the Q43 f&3r fymrr 9 92 = <9 Rfen

data of number of students passing A feg 36 24 U A8 A, BO3C
out from three different schools A, B g yr Iz @8 fefonrggmi <
and C over the different academic Hftmr § Tgrrger I I9e T 0 il
years. Study the bar graph and answer 33 03 Yrs T €39 e8|

the questions.

600 +

600

# School A

& School B
#SchoolA |
i # School €
# School 8

# School €

201415 2015-16 2016-17 201718

2018-19

2014-15 2015-16 2016-17 2017-18 2018-19 i

Jo' i3 A &Y fagd A% 7SS B
T um Je fefonrgem & Y3Hs

For which of the following years is

the percentage rise/fall in passed

T /WreT A 3?0 A?
students, the maximum for school B?
(A) 2015-16 (A) 2015-16
S (B) 2016-17
(C) 2017-18
(C) 2017-18
(D) 2018-19
(D) 2018-19

W
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Q44  The frequency polygon given here Q44 ffg 3t It IIg93" SISH

represents data obtained from a Uifemirggig® & i3 A I3 ifemr o'a
grouped frequency distribution giving (test scores) T AHIEU HIFII
test scores of examinees. (frequency) 3 3 yu3s o i 5]
Test Scores |ES=3| E Hél al
45 - Test Scores
40 - 45 -
35 ~ 40 4
2 30 1 35 -
€ 254
- > 30 4
g 21 g 254
o 15 - 3
10 - Sk
54 Z 15 -
0 ki ¥ T L] 1] T w 10 7
445 545 645 745 845 945 1045 5 4
Scores 0

4 1] 1 T 1 T i
445 545 645 745 845 945 1045

Which class interval has the fewest Scores

examinees? 7 5 Ve
for =gqr 039® @ Az 3 uc

(A) 44.5-545 W Ja57
(B) 545-64.5 (A) LL5-545
(B) 54L.5- 6L.5

(C) 4L.5- 645
(D) 49.5-595 (D) L9.5-59.5

(C) 445-645

Q45 A shopkeeper earns a profit of 17% Q45 f TAg © 0'fa3 U8 '3 10% 8¢ '3

on selling an article at 10% discount Y &8 fod TIeed 17% TS
on the printed price. What is the ratio e I THZ T HIie e 03 03
of the cost price and the printed price WS T 0 5U3 at 7
of the article? (A)  13:10
(A)  13:10
(B) W3
B) 10:13
() 1:3 (€) 1:3
D) 3:1 (D) 3:1
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Q46  The bar graph shown here gives the data

of number of students passing out from
three different schools A, B and C over
the different academic years. Study the

bar graph and answer the questions.

600 -

| 400

300
200 -+

| 100

0

2014-15  2015-16  2016-17  2017-18  2018-1%

#®SchoolA |
#School 8 |
#5chool € |

What is the difference between the
passed students of school C in
academic year of 2016-17 and
students of School B in academic

year of 2014-15?

(A) 450
(B) 250
(€) 200
D) 100

Q46 &3 famir 59 I9e 2 W Rfenx

A3 g 36 S U Ags™ A, BO3C
fSd urA Iz =¥ fefowrgdmi <
Hfemr § TgAge I I9 T 0 fimle
33 03 Yy & €39 fel|

600 <

# School A
#5choolB |
#@SchoolC |

fifen s A% 2016-17 GG AI® C O3
fifen a AS 2014-15 fR9 7S B f&0
uH JE T8 fefenrasm T 039 =t
J?

(A) 450
(B) 250
(CF =280
(D) 100

—————————————————————— e ——
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Q47 Alent? 1,500 to Ram for 3 yearsand Q47 A, IH & 3 AS B 7 1,500 03 AH

Q48

% 1,200 to Shyam for 2 years and
received from both ¥ 600 as simple

interest. The rate of interest is:

(A) 5%
B) 10%
©) 7%
D) 15%

Answer the questions from 48 to 50 (48

with the help of given frequency
polygon:-
(X axis

workers, Y axis represents number of

represents Number of

products manufactured)

800

700 €00 &
600

N
500 450 / WO
y

400
e 20}/
200 -

& S——

100

o I : y y
10 20 30 40 50

What is the range of the workers

which give the highest production?
(A) 200 to 600

(B) 500 to 1000

(C) 400 to 1000

(D) 400 to 800

& 2 A B8 2 1,200 féer I 03 ©F
3 AUIs fod @1 2 600 YyuU3

ader J| fonrd eg 3
(A) 5%
(B) 10%
(C) =%
(D) 15%

&3 92 gdggI3" gg3d © 099 ‘3
48 3 50 3 Y& T 39 fek:-

(X g3t SgHTTIMm & Hftmr egFge!
J, Y gt faafyz G3uer & Htmr
SElusiia)

H

1800 700

%700 ; 588///,»*\\\

1600 +— 500
500 - as0 =
i / o
§4oo

2300 nmvzggj/(f Lt adhd
1200 4

1100

| 04

10 20 30 40 50

73 3 <g deed et I8 SgHTIm
o 7T (range) St I7?

(A) 2003 600

(B) 500 3 1000

(C) 400 3 1000

(D) 40O 3 800

ﬁ

PAPER-5 SERIES-EC

[20]



Q49 A sum of money invested on Q49 5 TagH Augs fowd 3 fa=nm

Q50

Q51

simple interest amounts to X 620 in
3 years and to T 690 in 5 years.

The sum invested is:

(A) T 550

(B) %410

(C) 2585

(D) z515

Find the value of x if Q50
x[-51+2 (—~a)}] +

7[-3{(-7)(-a)}] = 10a

B =

B) =

© -=

© -3
0.753%0.753+2X%0.753x%0.247+0.247X0.247 Q51
0.541%0.541+2x%0.541X0.459+0.459%0.459

is equal to:

A 1

B) -1

<) 0

D) 2

PAPER-5 SERIES-EC

36 I3 AB gz 620 JIE 03
5 A& f@9 Z 690 J e €I gaIHt
st 32

(A) 550
(B) L0
(C) ¥585
(D} X515

x © HE Y3 T3, 7Aad
x[=5{=2(=a)}] +
7[-3{(=7)(—a)}] = 10a I

W =
® =
© -=
o -z

0.753%0.753+2x0.753%X0.247+0.247X0.247
0.541X%0.541+2x%0.541X0.459+0.459%X0.459 —

2 g99d J|
(A) 1
(B) -1
() ©
(D) 2
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Q52 A and B can do a job together in 8 Q52 A 03B s & fia a1 & 8 fe f&T

Q53

Q54

days. A is 1/4 times as efficient as B.
The same job can be done by A alone

in:

(A) 40 days
(B) 10 days
(C) 12 days
(D) 20 days

Paresh, Rajan and Subham can build (53
a wall in 6 days. Subham alone can

build the wall in 24 days. In how

many days can Paresh and Rajan
build half of the wall working
together?

(A) 8days

(B) 4 days

(C) 5 days

(D) 12 days

The average of the first 7 multiples of Q54
4 is:

(A) 32
(B) 112
C) 16
(D) 56

g9 Aae IS A, B 3 1/4 I IHS Il
gdt s fed@ A enrar fdS foat g
3T AT AT I7

40 fos

10 fes

12 fes

20 fos

(A)
(B)
(C)

(D)

UIH, IS 03 X B &g § 6 fea
ST g5 AT I&| §9H fads fon |y
$ 2u foo' 9 g= Aeer I S 03

0dh oo § =& ASe I&7?

(A) 8fes

(B) ufes

(C) 5 1EH

(D) 129088

L R Ufgd 7 great S wiAs &8t 7
(A) 788

(B~ 112

(c) 16

(D) 56
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Q55 Divide % 2,500 among A, B, C in the Q55

ratio 20 : 12 : 18.

(A) % 1,000:%600:%900
(B) ?‘ 1,000 : X 700 : X 800
(C) %950:%700:%850
(D) T900:%750:% 850

SECTION - 3 : Mental Ability and

Logical Reasoning

have been given followed by two
conclusions numbered [ and IL
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s)  from the

information given in the statements.

Statement :
I: Some lakes are rivers.
II: Some rivers are ponds.

III:  Some ponds are oceans.
Conclusion :

I: Some ponds are lakes.
II: No ponds are lake.

(A) Only I follows

(B)  Only II follows

(C) Either I or II follows
(D)  Neither I nor II follows

PAPER-5 SERIES-EC

¥ 2500 $ A, B, CTegag20:12: 18
e 0ous g <31

(A)  Z1,000 :% 600 : ¥ 900

(B) 1,000 :% 700 : % 800

(C) ¥950:%700: %850

(D) - THQD X750 X 800

91 - 3 : HSAF I3 W3 39 War3"

Q56 In this question, three statements Q56 fon yms €9, 36 aus’ 3 gnE ©

e #ftpar | 03 Hfepar 1| i3 I IS
ferdme a9 13 fagaufas a3 fa o=t
Aredrdl ©f 3949 Ha13 03 forfos 33
‘3 ygE gIer J|

JdHE!

B g S5, Tfonr IS

Il: g Sfanwr, 380 IS

W: 9 380, HITATKE TS|

e

I Y 380, $S IS

I W E 3T, FB S I
(A) =% fier | Use Jger J

T 3t fifer | 7 1 UsE S9eT 9
& 3 fAeT | & I 1| USET gder
I

)

(B) des fi{eT Il yer gIer I
)
)




Q57

Q58

In a company, all employees are ()57
required to complete a minimum

types

permanent status.

three of training to get

ETHICS

REGULATION

ALRNG3S
NOLLVIEO 4M1

PERSONAL
IMPACT

Based on the given diagram, how
many employees get permanent status
in the company?

(A) 334

(B) 251

(C) 280

(D) 347

Select the answer figure that can ()58
replace the question mark (?) in the

series given in the problem figure.

Problem Fig.

W

A
Answer Fig

T

S 1
A 1
(B)
(©)
D)

Wa

WA

j
-

%

3

| VA
=1 AY

S~ W

3 famit <t finded § yar 996
T 33 It I

ETHICS

REGULATION

ALEAIIS
NOUYR¥OINI

$6

L3

FERSONAL
IMPACTY

€3 e 939 © v 3, s

Y3 T I57?

(A) 334

(B) 251

(C) 280

(D) 347

g (?) & & & A
st
EINEIE
W | & |2
: ? 4
(A) 1

(B) 2

(c) "3

(D) 4
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Q59  Select the number that will come next (59 R Aftmr & 9T 9, 7 I &3t
s fRg udt & (___) ‘3 it |

138,08 30, 37, N, =8

in the following series.
13, 18, 25, 30, 37,42,

(A) 47

(B) 49
(C) 50
(D) 53

Q60  Select the number that can replace the (g0
question mark (?) in the following

series.

16, 19, 25, 34, 46, ?

(A) 5l
(B) 6l
(©) 60
(D) 64

(A). 47

(B) 49

(C) SO

(B)" 53

g9 Aftmr gE 7 It 3 T K8
yre i (7) S & 8 /|
16, 19, 25, 34, 46, ?

(A) 51

(B) 61

(C) 60

(D) 6L

Q61  Select the number that can replace the Q61 €9 HAftmr g& 7 J& &3t BF &9
yrs foe (7)S & & Aal

25, 35,59, 103, 73,7

question mark (?) in the following

series.

25, 35,59, 103, 173, ?

(A) 265
(B) 268
(C) 270
(D) 275

265
268
270

275

PAPER-5 SERIES-EC

[25]



Q62

Q63

G's rank from top of the class was Q62 7H3 fR9 G T AF®S g 3 358703

35th and from the bottom of the class
was 14th. What will be K's rank from
top of the class if his rank from
bottom of the class is 23rd?

(A) 25
(B) 26
(C) 27
(D) 28

Which of the following answer figure

completes the series of the question

figure?
/\ O\
(A)
(B)
©
FAR
(D)

Q63

J&t T 14T A ANS F9 K © 78

fiag 3 fdar I<9r Aegg I 3 Grer
AE'S 23T J?

(A) 25

(B) 26

Lon iR

(D) 28

Yis WSt < 83t § yar aael I7?

/A e

(A)

(B)

(C)

D DO IO

(D)

PAPER-5 SERIES-EC



Q64 Use the relations defined below to

Q65

solve these question.

A =B means ‘A is the father of B’
A > B means ‘A is the sister of B’
A < B means ‘A is the wife of B’

A % B means ‘A is the mother of B’
A $ B means ‘A is the son of B’

What should come in place of the
question mark (?) to establish that A
is the brother of D? A$B%C ? D%E

Ay >
B) $
© <
D) =

A School bus driver starts from
school and drives the bus 20 km
towards east and turns to the right
hand and drives 5 km. Then he drives
8 km after turning to his right side.
He then turns to his left and drive 5
km. Finally he turns to his right and
travels 12 km. How far is he from his

starting point and in which direction?

(A) 10 km, South
(B) 10 km, North
(C) 5 km, South
(D)

15 km, North

Q64  for yis & I8 99s ®E J& €3

Q65

yfgsfiaz Agar < @33 a9
A=BT0JIEI A BETZII
A>BE0JIFI A BT
A<BEO0IEI A BT UIS I
A%BEOIEI ABTHII
A$BTOIEI ‘A BT UITY

ffg 30 995 BH fJ A, D T 3T I,
yre fda (?) < 7 €3 st wiger
grdrer I?

A$B%C ? D%E

(A): " o>

(B)
(C)
(D)

A

s Ag® =R T IIEd AIB 3 HY
g9 & YyIg ¥ 20 km HH THET I
03 AR HZ & 5 km EH T&EeE JI
feg 8 WuE AR UR HF & 8 km SA
g J| fag €9 W ¥ e I
03 5 km S I8Ee I WHSt 9
€T WUE FR HFer J 03 12 km €
3T daTr JI BT wuEl ggwst

AfESt € Aegs U fdal g9 03 fam
fom &g uygr 37

(A) 10 km, BHE

(B) 10 km, €39

(C) 5km, THE

(D) 15km, €33

PAPER-5 SERIES-EC
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Q66

Q67

In this question, three statements Q66
have been given followed by two

conclusions numbered [ and II
Assumiﬁg that all information in the
statement is true, analyse the two
conclusions together and determine

whether any of them logically and

definitely  follow(s) from the
information given in the statement.
Statement :

)i No tables are chairs.

II: Some chairs are sofas.

[I:  All sofas are beds.

Conclusion:

I) No bed is a table.

1) Some chairs are beds.

(A)  Only I follows

(B)  Only II follows

(C) BothIand II follows

(D)  Neither I nor II follows

Find the missing term in the Q67

following letter series:

COL, FOI, IOF, LOC,

(A) MOO
(B) 00Z
(©) POQ
(D) COD

fer yme @9, 36 a8t 3 goe ©
e #Hfemr | 03 Aftpar 11 3 32 TS|
fendme a3 03 faoufas a3 fa o=
& faozr fie ags’ Ko &3t ot
"eadl € 394 HI3 03 fsrafeg3s 39
‘3 ymE FIeT I

IES

I Jet & N, AT It I

. I JIAM, RS IS

n: A A, USW IS

1) It & uBY, N &t Il
1) % IIAMT, USY IS

(A) =S fiHe | USe ager J
(B) d=s fifer I Use a9 I
(c) TRfRID3IYUSE IIT IS
(D) & 3 fHer | & dt Il User gIer

J

Jot fiE3t 0Hg Bt {9 BUI U U3"
a3

COL, FOLAOF, LOG i =

(A)
(B)
(C)
(D)

MOO
00z
POQ
COD

———————————————
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Q68 Select the option figure that will Qg8 € fegsy vw‘!%iz,"’r S 9Eagd RIS
replace the question mark (?) in the &3t yqr{‘gig”r =3 f&g YA fgs (?)
following figure series. T HES ‘2 g

-
-

®
®
®
&,

(D)

0
@
(B) @ (B)
®
@
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Q69  Select the option that can replace the Qg9 €9 fegqwy ge A s fgs (?) &
question mark (?) and complete the g3 aaerd 03 TR Fa s s
given figure series. UT™ 59 FIT" I ¢

AN €9 K] 2 ANEH| £/ K| 2

B B
(A) W

Q) Q)
(B) (B)

<y &Y
(©) e

, (X
X0
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Q70  Which letter will replace the question (70 &3t It 3T f&g YHS fga (?) ©F
g 3 fgI3 09I wedr?

mark (?) in the given series?

V.T.2,1.B

(A) O
(B) P
© Q
D) R

Q71  Select the letter-cluster that will come (7]

next in the given series

KFH, MHJ, OJL, QLN, ?

(A) RNP
(B) RMO
(C) SNP
(D) SMO

Q72 Select the letter-cluster that will come (72
in the place of the question mark (?)

in the following series.

FGNC, HJRH, IMVM, ?

(A) NRVZ
(B) LPZR
(C) LQZS
(D) LPYS

o A B
(A) O
(B) P
(o Sl =
(D) R

@H 0Ha-AYd ©F Ot a9, A &3
I8t St <9 yme fde (7) € & 3
WEdr?

KFH, MHJ, OJL, QLN, ?

(A)
(B)
(C)
(D)

RNP
RMO
SNP

SMO

€7 [vg-Aye & It &9, A &3t
et Bt <9 yis fds (7) S 3
W

FGNC, HJRH, JMVM, ?

(A)
(B)
(C)
(D)

NRVZ
LPZR
LQZS

LPYS

e ——
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Q73 The following figure is folded to (73 Jo" &3 wif3t § fEa we g=ge 3at

form a cube. Which representation of
the cube in the given option is correct

one?

6
6
5 4
(A)
2
1 6
(B)
4
3 2
(©)
3
1 2
(D)

Ao famr I 0 83 feamyr &9
wg v fagzr fogus A I?

(A)

(B)

(C)
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Q74 Find the missing term in the Q74 It &3 U'uyg B 9 BUIF UT Uz

Q75

following letter series:

JK,QR,YZ,
(A) GH
(B) HI
C) U
(D) GI

If X +Y means X is the mother of Y; Q75

X =Y means X is the father of Y and
X x Y means X is the brother of Y
and X - Y means X is the sister of Y
which of the following means that Q

is the mother of T?

(A) P+Q-R+SxT

B) P+S+Q+R-T

(© T-Q+R+SxP

D) P+Q-Rx SxT

J3:

KN
(A) GH

(B) HI

() W

(D) Gl

AT X + YT 0TI, X, Y S H I
X:yeodgx vyeiusrdos
XxYSOJE X, YSTITI0O3
X-Y®E0Jg X YT IEI 3 I
fofaw fd farer ngg I fa q, 7 &t
HFJ?

(A) P+Q-R+SxT

(B) P+S+Q+R-T

(C) T-Q+R+SxP

(D) P+Q-Rx SxT

PAPER-5 SERIES-EC
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SECTION-4 : Language Skills (Punjabi/ English) / 3731-4 : T8 € g&9 (JAms=n WISHD

Q76

Q77

Q78

Select the most appropriate SYNONYM of the given word.
SOLEMN

(A) splendid

(B) informal

(C) frivolous

(D)  serious

Select the grammatically correct sentence from the following options.
(A) Iv met a man who knows your uncle.
(B)  Who knows your uncle I met a man.
(C)  Your uncle knows who I met a man.

(D) Ihave met a man knows your uncle who.

Read the following sentence and identify the part that has an error.

It is healthy / to eat / a bowl of fresh, green salad / than a packet of chips.
(A) Itis healthy

(B) toeat

(C) abowl of fresh, green salad

(D) than a packet of chips

A 3 . e —————
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Q79 38" HEE T AT 0'ISH 0 BT I

(A) Noise
(B) Noisy
(C) Noisome

(D) Noisily

Q80 Choose the most appropriate ANTONYM of the given word.
BENEFICIAL
(A)  useful
(B)  helpful
(C) harmful

(D)  careful

Read the following passage carefully and answer the given questions from Q 81 to

Q 85.

Years ago, when I was a young Assistant Professor at the Harvard Business school, I
thought the role of business schools was to develop future managers who knew all about the
various functions of business, to teach them how to define problems succinctly, analyse
these problems and identify alternatives in a clear, logical fashion and finally, to teach them
to make an intelligent decision. My thinking gradually became tempered by living and
working outside the United States and by serving seven years as a college president. During
my presidency of Babson College, I added several additional traits or skills that T felt a

good manager must process.

. et
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One must have the ability to express oneself in a clear articulate fashion. Good oral
and written communication skills are absolutely essential, if one is to be an effective
manager. One must possess that intangible set of qualities called leadership skills. To be a
good leader, one must understand and be sensitive to people and be able to inspire them
towards the achievement of a common goal. Effective managers must be broad-minded
human beings who not only understand the world of business but also have a sense of the
culture, social, political, historical and (particularly today) the international aspects of life
and society. This suggests that exposure to the liberal arts and humanities should be a part

of every manager’s education.

A good manager in today’s world must have courage and a strong sense of integrity.
He or she must know where to draw the line between the right and the wrong. That can be
agonisingly difficult. Drawing the line in a corporate setting sometimes involves having to
make a choice between what appears to be conflicting ‘rights’. For example, if one is faced
with a decision about whether or not to close an ailing factory, whose interests should
prevail? Those of stock holders? Of employees? Of customers? Or those of the community
in which the factory is located? It’s a tough choice. And the typical manager faces many

other.

But now I have left behind the cap and gown of a college president and put on the
hat of chief executive officer. As a result of my experience as a corporate CEO, my list of

desirable managerial traits has become still longer.

It now seems to me that what matters most in the majority of organisations is to have
reasonably intelligent, hardworking managers who have a sense of pride and loyalty
towards their organisation; who can get to the root of a problem and are inclined towards
action; who are decent human beings with a natural empathy and concern for people; who
possess humour, humility and common-sense; and who are able to drive it with a stick-to-it

attitude and patience in the accomplishment of a goal.

e S e e e
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It is the ability to make positive things happen, that most distinguishes the successful
manager from the mediocre or unsuccessful one. It is far better to have dependable
managers who can make the right things happen in timely fashion than to have brilliant and

highly educated ones who can do excellent planning but not implementing.

Q81 What is the pre-requisite for developing the social, political, historical and

international aspects of life and society?

(A) Learning managerial skills

(B)  Exposure to liberal arts and humanities
(C) Developing analytical skills

(D) Inclination towards welfare programs

Q82 What is the present position held by the author?
(A) College President
(B) Bank Manager
(C)  Motivational Speaker

(D) CEO

Q83 According to the author what can be a difficult choice?
(A) to draw the line between right and wrong
(B)  to possess knowledge and skill
(C) tobe a good leader and manager

(D) to satisfy oneself and others
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Q84 Accordiﬁg to the author the role of business schools is to:
(A) develop skills
(B) develop a sense of integrity
(C)  develop future managers

(D)  provide moral education

Q85 Find the word from the passage which means the same as ‘Attribute’.
(A) Exposure
(B)  Essential
(C)  Trait

(D) Identity

Q86 ‘G = fig U3 gwe Jg, fod Hue Tel

(A)  TE
(B) 388"
(C) <oy
(D) THBC
Q87 AT esdE Red ', 1HE yYJ &3
(A) HeE
(B) &

(C) SdrTsr

(D) 3T

=

e ————
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Q88 aammeﬁ%gumgél

(A) &I
(B) &
(C) oW
(D) TZ

=

Q89 ‘Exile’ HEE T AJl YA 0 32T Il

(A)  BEH3
(B) OHAfE3T
(C) w<nd
(D) o foarE

Q90 WHI™ YA AE &' HEfU3 HI<d" ge|
(A) afasﬂﬂfér
(8) it s wr il & g
(C) fomsrdeer
(D) a'aljﬂé
st e geB s aB U w3 913y 95 Fae @39 fe€
Hé&?ih@ﬂ?éﬂ?@?@éu?ﬁu?@waamaauaﬁﬁﬁ%w);&
WEmé,@ﬁﬁuﬁw@a@ﬁmwwmaﬁldﬁéa@ﬁ

M & B2, §ge 8Tad 0 Al wife-adls Hee g 83 AST Jfl Y36 AAAd A3 936

H?séa”’r?ﬁﬁ,Héfnasos"nqasoén"m—ﬁaérséaﬁl
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BFINI & T3I" HEH et ¥® Yfeddmt & ft fegmr —arar J) faR & A3t © ¥s-
fegrg Goet Uar3s Uugt €3 0da A3EEm B A Wad & faR-or-fan gu e Afag
Ifge & wae ST AR I J8-ar-ad ufgurdt 7 Ig-I13 firt fegrgt B8t G gt v

J, 3 BI-TT (IFBI) T HI-TToI yduar feg foR & 75t @ B3%, 19356 03 019936
Q91 H@qu&aﬂ»ﬁ@ﬂéﬂﬁﬂwwmé?

(A)  0HIS AL T &S

(B) Uool ARSI &8

(C) HAfE &%
(D) Wfe-I3BI6 R I8

Q92 fer 33 T fHIdy I -

(A) FTE S 3T
(B) HEH T THI®
(c) BIM3* &t w3ar
(D) YIS A
Q93 BI-=II" (IBI) © fagdt udur feg fon & A3t © 936, 1936 03 19936
HAS YIIE g I67?
(A)  Yg =gt
(|) fos
(C) HEEI
(D) HaM3A

S ———————— —————
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Q94 Bt T AeT fogt €t s yfea S & feam arer J |

Q95

(A) U St
(B)  H'S I €
(C) H&d Emif
(D)  ygm S

YI'35 HAGT I3 HS © 091 HaT 398 IS ?

(A) [OTI3SHS
(B) D@B‘(S'H?S
(C) TIcdV

(D) U36, 0193503 0TI3IG HS

SECTION-5 :Digital Literacy and Awareness

Q96

In Internet Explorer browser, you can
see thumbnail view of all the open

tabs. For this purpose we should

select % ” option to view web

pages.

(A) pfeview
(B) n-ormal

(©) qﬁick Tabs

(D) favorites

391 - 5 : fFAES AHI3™ W3 AIgIS”
Q96 fiegde NaAuddd Fons <o, I

A ¥ 2o T HE68 fon ©Y Aee
J| fon G2n B¢ AG 29 UH SvE B

« 0 feamy & O IS gt
3J1

(A)  Yfeg

(B) &I

(c) 3fal=En

(D) c=fIdH
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Q97 In MS Word 2019, which shortcut Q97 MS Word 2019 @9, fagdt mracde dt

key is used to open find and replace @ =33 foudn 38 nafee a3 Tz

dialog box with replace tab active? 03 FuBA Ifeger gan § ugE a8
3t Aer I?

(A) Alt+H
(A)  Alt+H

®) Gul+H (B) Ctrl+H

(C) Cul+R (C) Ctl+R

(D) Alt+R (OF - A s

Q98 What is the full form of VDT? Q98 VDT T YJ' &'H at 37

(A)  Video Display Type (A) IE fFAud ey

(B)  Video Device Terminal (B) <IIE f3=fen chiles

(C)  Video Display Terminal (C) <IE 3B chites

(D)  Visual Display Type (D) fegn® f3Aud ey

#
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Q99 In MS Excel 2019, negative numbers Q99 MS Excel 2019 f&9, fge3Ha

can be displayed in : Hftmret IEERIESIRESS I CELY
Jo|

I. parentheses
. gadct

II. red

' . B I

(A) Onlyl
(A) fHI= |

B Only II

®) _ H (B) fAI=ll

(C) BothlIandII ) 10313

(D)  Neither I nor II (D) I BTN

Q100 Which “of the following pair of Q100 Jat fifsni &9 Aadn ﬁ‘;tgrf‘gqlia'lg_
storage device type — device is fgefom T fagg AF Adt 37

correct?

l. nISfes f3ra — o938 fana

1 Magnetic disk — Hard disk
_ . Sudes IR —FEST
H. Optical disk —DVD

: (A) fAIS |
(A) Onlyl
®) Onlyll (8) frz
(C) BothIandIl (c) 103ned
(D)  Neither I nor II (D) &3 IadI

M
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Rough work / 3@ €3
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Read the following instructions carefully: 33 g gefest g fons 578 U3

1. Out of the four answer options given for each question, 1. 939 yrs o8 3 o o9 syt 1, @viees & @inra €59
Candidate has to be darkened only one option as answer e 3 98 g5 ynrfie s 55 35 i frasy & 639 = a5
on the OMR Answer Sheet. The answer once marked can EC roukal ﬁaw‘ﬁ@g@?m@%?jmbﬁ;;ﬂag'
not be changed.

2. The candidate should ensure that the OMR Answer Sheet | 2. Sffeeat § g welid ge8e Tdter 3 & €39 e wat & IRy
is not folded. The candidate should not make any stray Siee § €339 Hic 3 feug-Gug It & fors &dt BIrgE
marks on the OMR Answer Sheet. The candidate must gder @fiees § €hing €33 Hie 9 fosgaes i 3
not write the Roll No. at any other place except the fomrer I3 a3 & e 38 d9 a1 v gl
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test | 3 Erireea & Iw Hie &g Fat w3 Ot SHe Jade &5 w3 3ne
Booklet No. & Test Booklet Series in attendance sheet as g‘a@gmgmfgqgm 3 2rc dade 3 2 R T
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever | 4. foads gwrar ¥l e 3 Sieea § wiue enmT 993 fedrger
it is demanded by the Invigilator. Jr|

5. Candidate is not allowed to leave the seat/ test center | 5, fsggs w dug @ FuIde I feim wigmr B2 o, 38 &
without taking special permission from Invigilator or Sriees wuE Hie/Afifmr deT &l €3 Aee/Aaet
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall | 6. Siteeg § WS Idl Hie 3 IR |13 fast w3 €39 Hie
without signing on attendance sheet & handing over 363 foaras § A fawt ifimr I 3 =99 A & wifom &3t
OMR Answer Sheet to the Invigilator. ' 3l

7. Uses of Pencil/Electronic/Manual Calculator is prohibited. | 7. Yot/ fedafsa/ Mo Asades & <93 936 & Hordt 3

8. The candidates are governed by all Rules and | 8, ffimr g5 e €I @ wroge @ Fen g Gilees Ua= yfsw
Regulations of the Recruitment Board with regard to I =93 © A o W3 fefamd wills J=at wefas a1 e
their conduct in the Examination Hall. All cases of unfair A HHfEw & I35t 893 © fsmdt w3 fefsenit wighg fsuerfenr
means will be dealt with as per Rules and Regulations of T
the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury | 9. fimr w31 Jg 3 sme, Sfiees wuel @hmig €39 Hie,
Copy to invigilator once after the Examination is vE 2239 & At fsees & TR a3 /addh| feaee <8
completed. Candidate can only leave the Examination SrfteTs & Exhinrg anlt fiise 3 smie I e fiftmr I8
Centre once after receiving the Candidate OMR copy g3 Aaer J1
from Invigilator.

10. The Candidates are required to submit t'he Test | 10. ffimr 3 swe Siteeat § wust 202 gade fsaes a8 mff
Booklet to the Invigilator after the exam. FITEF Jw

11. Question Paper will be available on Recruitment Portal | 11. fugdt fifimr fiige @ yehi@ Je 3 24 wfent @ ieg-nieg I35t

for future references within 24 hours after last shift of

examination is completed.

ges €3 Ifad gefont SE yre U39 Gussy J=Tr|
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